A A . fyu =y \ {H ST b T 8, 500m’ 15K RS AR & 2, 260m
TRISHLE R AT — i Be e W) Je A4 AL 50 B HENT RS 30, 800t HE [ BOD 20 mg/1
P JLFEHE 3 i
7 H ;"f\& EI:%AF /':E':ﬁ; o H i& 15 /KA RE 7 35m, A KE SS 10 meg/1
‘A oo B A EN = H 7K L P it %
N VR =
AR UK R, eIk mik | L O L = E e i %
NE| 3 i yH b iE e )
I B | @B | /)| /R (/R (/B gy | NE | BR BRI pH | AR R ERE | pH R
1 0K)| 8.98 19.6 18.3 P'S 5 8.4 19.2 0, 30 7.3 0.2
2 (%) 0.55 1.00 19.3 18.3 P'S 5 8.4 19.2 ) 30 7.3 0.2
3 ()
4(H)
5 () 0.7 7.7 18.3 P'S 5 8.5 20.6 0, 30 7.2 0.2
6 (k) 18.4 18.3 P'S 5 8.5 19.5 0 30 7.2 0.2
7 0K) 0.24 15.4 18.7 X 5 8.5 20.4 0, 30 7.4 0.2
8 k)| 0.65 1.00 19.6 18.8 X 5 8.5 19.7 0, 30 7.2 0.2
9 (&) 1.40 1.50 15.2 19.3 X 5 8.1 20.4 0, 30 7.1 0.2
10 (H)
11 (H)
12 (A) 132.3 4.0 19.6 X 5 8.4 20.9 0, 30 7.1 0.2
13 (%) 20.3 19.6 X 4 8.5 20.8 0, 30 7.5 0.2
14 (k) 0.24 20.3 19.6 X 4 8.5 20.8 0, 30 7.5 0.2
15 (K)] 1.41 1.50 20.6 19.7 X 5 8.5 20.9 0, 30 7.5 0.2
16 ()] 2.41 1.50 20.4 19.7 X 5 8.5 20.9 0, 30 7.5 0.2
17 ()
18 (H)
19 (H) 7.5 T =1k D 2 FHUIEL
20 (Uk)|  3.84 1.50 T = kD 2, FHUIEL
21 Ok)| 0.41 1.50 88.8 Wi {5 1k 0D 2%y, GHAIEEL
22 (OR)
23 (&)
24 ()
25 (H)
26 (H)] 0.74 1.00 20.9 S 5 8.5 21.9 ) 30 7.3 0.2
27 (k) 21.4 S 5 8.5 22.8 ) 30 7.3 0.2
28 (K) 20.6 21.4 X 5 8.5 23.1 ) 30 7.3 0.2
29 OR)|  2.20 1.00 20.1 21.4 PS 5 8.5 23.5 ) 30 7.4 0.2
30 (&) 2.57 1.00 21.6 21.5 PS 5 8.5 23.5 e 30 7.4 0.2
31 (+)
& = 25.16 0.48 12.50 221.8 270.6 - - - - - - - - -
NS 2.29 0.24 1.25 73.9 16.9 19.7 5 8.5 21.1 - 30 7.3 0.2
K K 8.98 0.24 1.50 132.3 21.6 21.5 5 8.5 23.5 - 30 7.5 0.2
B N 0.41 0.24 1.00 0.7 4.0 18.3 4 8.1 19.2 - 30 7.1 0.2
DB ORI HSTRIL HEt it AR E
AP fie % pH SS BOD COD T-N R ORI Bl PEAIRE R (1) 25,522.69
KB RRA Wkl 7.3 ¢ 0.5 4 - E RO i R IR B ) 25.64 | 122.22 (RITAEE R R AY)
o ' ' ' B LORN i BN Z AR (1) 25.64 | 122.22 25,692.91
BIEFEH A WAL A A R BRAER = HOTHL, FiH 4 PN D BB (nf) 25.64 | 122.22 E+%
2021457 H2H ik 99 64.6 12 H K D PN EB R T Bl BEE () 12.50 | 48.00 | HEF Tt
: YT, PERESE AR Bl ARHENIA R (m) 38.14 | 170.22 | 32.77| 28.20




AN U =0 \ H HEST T AR 5,400 i TEKIREE A 5 -
TSI S0 5 — i Be Je W) S w1 53 5 ST LA 14,600t A | BOD 10 me/1
b JLFRBE $ e
7 H i‘,f& :J:é‘f //léi; o H i& 15 /KALFRRE /) 20,/ A KE SS 10 meg/1
HH piif} 3T I3 A R 2 H 7K pa" i it e
= = =
AR UK R, eIk mik | L O L — = E e fii %
NE| 3 i yH b iE e )
I B | @B | /) | /R (/R (/B (i py| NE | BR BRI pH | AR R ERE | pH R
1 (k) 14.0 15.2 WA 15 7.5 16.6 fEE (4, 50 7.2 0.2
2 (&) 14.0 14.8 WA 15 7.6 16.9 fEE (4, 50 7.3 0.2
3 ()
4(H)
5(3) 55.0 43.0 15.4 A 14 7.5 17.3 fEE (4, 50 7.2 0.2
6 (k) 15.0 15.7 A 15 7.6 17.1 fHE 4, 50 7.3 0.2
70K 55.0 14.0 15.7 R 13 7.6 17.4 T2, 50 7.3 0.2
8 (K) 15.0 16.1 R 14 7.7 17.5 T2, 50 7.3 0.2
9 (&) 15.0 16.1 R 15 7.6 17.5 T2, 50 7.3 0.2
10 (H)
11 (H)
12 (D) 56.0 45.0 16.0 R 15 7.6 17.5 T2, 50 7.3 0.2
13 (k) 14.0 16.1 R 14 7.7 17.7 T2, 50 7.4 0.2
14 0K) 55.0 15.0 16.5 R 15 7.7 17.9 T2, 50 7.3 0.2
15 CK) 16.0 16.5 A 16 7.7 17.9 T2, 50 7.4 0.2
16 (%) 14.0 16.4 R 15 7.7 18.2 T2, 50 7.3 0.2
17 ()
18 (H)
19 (A) 55.0 47.0 17.5 R 15 7.8 19.2 T 7, 50 7.4 0.2
20 (K) 15.0 17.7 R 17 7.8 19.4 T 7, 50 7.4 0.2
21 OK) 43.0 16.0 18.2 R 16 7.6 20.0 T 7, 50 7.5 0.2
22 (OR)
23 (%)
24 ()
25 (H)
26 (A) 55.0 78.0 18.7 R 16 7.5 20.6 T 7, 50 7.2 0.2
27 (K) 15.0 18.6 R 17 75 20.2 T 7, 50 7.2 0.2
28 (K) 56.0 16.0 18.6 AR 17 7.2 20.6 T 7, 50 7.1 0.2
29 (R)| 2.77 1.00 15.0 18.7 R 16 7.3 20.5 T 7, 50 7.2 0.2
30 (&) 15.0 18.4 R 17 7.4 20.6 i) 50 7.2 0.2
31 (1)
2 =F 2.77 1.00 130.0 | 451.0 - - = - = - - - -
ST 2.77 1.00 53.8 22.6 16.8 15 7.6 18.5 50 7.3 0.2
& K 2.77 1.00 56.0 78.0 18.7 17 78 20.6 50 75 0.2
AN 2.77 1.00 43.0 14.0 14.8 13 7.2 16.6 50 7.1 0.2
DB ORI HSTRIL HEr it AR E
AP fie % pH SS BOD COD T-N R ORI Bl PEAIRE R (1) 11,832.90
KB AR [ E ORI e F R AL AR R (t) 2.77 12.56 (R PEARTRAY)
Bk 7.3 ! 0.5 1.3 72 BLOR S HIN Sk (1) 2.77| 12.56 11,851.46
HIEFSEAH HUTF K WAL A4 PR EREER ZHOFRB, P i3 N T B (md) 2.77 12.56 B=+t%
20214FETH2H WA 9.4 26.4 172 H K DN S TR e B=EE () 1.00 6.00 | Hit it
TR 9.4 26.5 YT, PERESE AR Bl ARHENIA R (m) 3.77 18.56 | 26.53 | 32.33




